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Despite some disagreements both the Alcatel/Ericsson and Telcordia views appear to view a Call Leg as a view on the Call. Thus an Incoming Call Leg (I-Leg) is seen as the originating party’s view on the Call and an Outgoing Call Leg (O-Leg) is seen as the terminating party’s view on the Call.

We have come to this conclusion chiefly because in both models it can be seen that events occurring on the O-Leg are passed to the I-Leg. In that sense the state of the Legs reflect the state of the “call” (though not of course the Call object).

For example, the I-Leg is shown as being able to be in the PROGRESSING / CALL_DELIVERY state in both models. In order to move out of this state an “answer” event occurring on the O-Leg is passed to the I-Leg. Both Legs are now in the ANSWER state.

This has a number of implications :-

An I-Leg in the PROGRESSING state has to allow announcements to be played to the originating party – “Your Call is being Forwarded” for example. However it would make no sense to allow announcements to be played to the O-Leg since there is no way to do it yet.

An I-Leg is dependent on the O-Leg in order to transition between states. From an application’s point of view the I-Leg states that are transitioned to therefore don’t add any extra knowledge.

If an O-Leg was in the ACTIVE / CONNECTED state and the I-Leg hangs-up the O-Leg will have to transition to the PROGRESSING state (to be consistent). 

Though the “answer” event is passed to the I-Leg, the “alerting” event isn’t. This appears inconsistent.

Though the I-Leg can go into the PROGRESSING state it isn’t allowed in the ALERTING / CALL_DELIVERY state. 

This is clearly because ALERTING on the I-Leg makes no sense, but then why does PROGRESSING make any more sense?

Though the “answer” event is passed from the O-Leg to the I-Leg when there is only one O-Leg it isn’t clear what should happen when there are two O-Legs.

Effectively the STD of an I-Leg is different to that of an O-Leg. An application cannot therefore treat all Legs the same and expect the same behaviour. The ability to do this seems desirable.

Our solution to the inconsistencies and complications that arise is: -

The Incoming Leg is initially in the ACTIVE / CONNECTED state when a reportNotification is sent to the application (except for the “release” event). What the application can do with the I-Leg in this state is identical to what it can do with an O-Leg in this state. As far as the application is concerned there is a connection set up and the end-user is “off-hook” in both cases.

Events occurring on a Leg and reported via eventReportRes() only affect that Leg.
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